- Unit 7 Right Triangle Test Review - CMIC2

1. Find the missing side length.

2.

3.

Z 29149

4. Draw a picture for each situation then use trig ratios to solve.

a.

Suppose the angle of elevation from a ship to the top of a lighthouse on top of cliff is 6°. The lighthouse is

60 feet tall and the cliff is 250 feet high. Find the distance from the ship to the top of the lighthouse. 178 .‘qu 'Ff'
A car is driven up a slop of 6° for 150 meters then driven another 100 meters at a slope of 9°. How far has

the car climbed vertically?  31.322

The angle of depression from a hot air balloon to its landing target is 12°. If the balloon is 175 feet high, find

its distance measured along the ground from the target. §23.310%+

A surveyor measures the top of a building 100 feet away from him. His theodolite (éngle-measure device) is

5 feet above ground. The angle of elevation to the top of the building is 45°. How tall is the building? 105 H
A forest ranger looking out from a ranger’s station can see a forest fire at 30° angle of depression. The

ranger’s position is 125 feet above ground. How far is it from the ranger’s station to the fire? 2.](9.5"’(‘""'

A tadder on a fire truck has its base 8 feet above the ground. The maximum length of the ladder is 100 feet.

If the greatest angle the ladder can make with the ground is 70°, what is the highest it can reach? 10}.9 1 'Fl"
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